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1. Given the following genomes:

A= {ata ahfh7 ftbh7 bteta ehdhv dt7 Ch, Ctgt, 9h, Z‘hht7 hhitv ltjh7 jtkt7 khlh}

B = {cpas, apby, brey, di, dneg, en fi, frge, gnhe, nie, in, Inje, jnke, kple}

Draw the chromosomes of A and B.
Draw the adjacency graph of A and B.
Compute the DCJ distance between A and B.

Find 3 different DCJ operations applied in A that decrease its distance to B, and redraw
the adjacency graph for each operation.

(e) What is type of the operations that you applied in (c)? (Reversal, translocation, fis-
sion...)



